

WS-18 For 6th class

76 g/°C

①

$$\text{At } t_1 = 0^\circ\text{C} \Rightarrow d_1 = 10 \text{ gm/cm}^3$$

$$\text{At } t_2 = 100^\circ\text{C} \Rightarrow d_2 = 9.4 \text{ gm/cm}^3$$

$$d_1 = d_2 [1 + \gamma (t_2 - t_1)]$$

$$\Rightarrow 10 = 9.4 [1 + \gamma (100 - 0)]$$

$$\Rightarrow 10 = 9.4 [1 + \gamma \cdot 100]$$

$$\Rightarrow 0.6 = 940 \gamma$$

$$\Rightarrow \gamma = \frac{1}{940}$$

$$\Rightarrow 3\alpha = \frac{1}{940}$$

$$\Rightarrow \alpha = \frac{1}{3 \times 940}$$

$$= 2.92 \times 10^{-4} / ^\circ\text{C}$$

② At $t_1 = 0^\circ\text{C}$; $d_1 = 9.9 \text{ gm/cc}$

At $t_2 = 20^\circ\text{C}$; $d_2 = ?$

$$\alpha = 17 \times 10^{-6} / ^\circ\text{C}$$

$$\text{For cm } \gamma = \frac{d_1 - d_2}{d_2 (t_2 - t_1)}$$

$$\Rightarrow 17 \times 10^{-6} = \frac{9.9 - d_2}{d_2 (20 - 0)}$$

$$\Rightarrow 3.17 \times 10^{-6} = \frac{9.9 - d_2}{20 d_2}$$

$$\Rightarrow 20 d_2 \times 3.17 \times 10^{-6} = 9.9 - d_2$$

$$\Rightarrow 9.9 - d_2 = 0$$

$$d_2 = \frac{9.9}{1.01} = 9.99 \text{ gm/cc}$$

③ 'At $t_1 = 0^\circ\text{C} \rightarrow d_1 = ?$

$$t_2 = 800^\circ\text{C} \rightarrow d_2 = 18.6 \text{ gm/cc}$$

$$\alpha = 14 \times 10^{-6} / ^\circ\text{C}; \gamma = 3 \alpha$$

$$\gamma = \frac{d_1 - d_2}{d_2 (t_2 - t_1)}$$

$$\Rightarrow d_1 = d_2 [1 + \gamma (t_2 - t_1)]$$

$$\Rightarrow 18.6 [1 + 42 (800 - 0)]$$

$$\Rightarrow d_1 = 18.6 [1 + 42 \times 800 \times 10^{-6}]$$

$$\Rightarrow d_1 = 18.6 \times 1.0336$$

$$= 19.39 \text{ gm/cc}$$



④ at $t_1 = 20^\circ\text{C}$; $A_1 = 100\text{cm}^2$
 $t_2 = 100^\circ\text{C}$; $\beta = 6 \times 10^{-5}/^\circ\text{C}$

$\beta = \frac{\Delta A}{A \Delta t}$; $\Delta A = 1$

$\beta = \frac{2}{3} \beta$

$\Rightarrow \frac{\Delta A}{A \Delta t} = \frac{2}{3} \beta$

$\Rightarrow \Delta A = \frac{2}{3} \beta A \Delta t$

$= \frac{2}{3} \times 6 \times 10^{-5} \times 100(100-20)$

$= 4 \times 10^{-5} \times 100 \times 100$

$= 0.4\text{cm}^2$

⑤ given $\frac{\Delta A}{A} = 0.08\%$
 $= 8 \times 10^{-4}$

$\beta = \frac{\Delta A}{A \Delta t}$

$\beta = \frac{8 \times 10^{-4}}{80} = 10^{-5}/^\circ\text{C}$

$\beta = \frac{2}{3} \beta$

$= \frac{2}{3} \times 10^{-5}$

$= 1.5 \times 10^{-5}/^\circ\text{C}$

$= 15 \times 10^{-6}/^\circ\text{C}$

⑥ $\alpha = \frac{\Delta l}{l \Delta t} = \frac{\Delta D}{D \Delta t}$

given $\alpha_{Al} = 25 \times 10^{-6}/^\circ\text{C}$

$\alpha_S = 10 \times 10^{-6}/^\circ\text{C}$

$(\alpha_{Al} - \alpha_S) = \frac{\Delta D}{D \Delta t}$

$= 15 \times 10^{-6} = \frac{10^{-3}}{D \Delta t}$

$\Rightarrow \Delta t = \frac{1000}{15} = 66.6^\circ\text{C}$

⑦ at $t_1 = 20^\circ\text{C}$; $l = 1\text{m}$

$t_2 = 50^\circ\text{C}$; $\Delta l = 10^{-3}\text{m}$

if $\Delta l = 10^{-3}\text{m}$; $t = ?$

from $\alpha = \frac{\Delta l}{l(t_2 - t_1)}$

$\Rightarrow \alpha = \frac{10^{-3}}{1(50-20)} = \frac{10^{-3}}{30}$

also $\alpha = \frac{\Delta l}{l(t' - t)} \rightarrow$ ②

from ① & ②

$\frac{10^{-3}}{30} = \frac{\Delta l}{l(t' - t)}$

$\Rightarrow \frac{10^{-3}}{30} = \frac{-10^{-3}}{t' - 20}$

$\Rightarrow t' - 20 = -30$

$\Rightarrow t' = -10^\circ\text{C}$

⑧ given $l = 10\text{m}$; $\Delta l = ?$

$\Delta t = 15^\circ\text{C}$; $\alpha = 12 \times 10^{-6}/^\circ\text{C}$

From $\alpha = \frac{\Delta l}{l \Delta t}$

$\Delta l = \alpha l \Delta t$

$= 12 \times 10^{-6} \times 10 \times 15$

$= 180 \times 10 \times 10^{-6}$

$= 0.0018\text{m}$

⑨ given $t_1 = 20^\circ\text{C}$; $l_1 = 20\text{m}$

$t_2 = 40^\circ\text{C}$; $\Delta l = 0.22\text{cm}$

$= 22 \times 10^{-4}\text{m}$

$\alpha = \frac{\Delta l}{l \Delta t} = \frac{22 \times 10^{-4}}{10(40-20)}$

$\alpha = \frac{22 \times 10^{-4}}{200} = 11 \times 10^{-6}/^\circ\text{C}$

⑩ given $l = 200\text{m}$; $t_1 = 10^\circ\text{C}$

$t_2 = 40^\circ\text{C}$; $\alpha = 11 \times 10^{-6}/^\circ\text{C}$

$\alpha = \frac{\Delta l}{l \Delta t} / ^\circ\text{C}$

$\Delta l = \alpha l \Delta t$

$= 11 \times 10^{-6} \times 200 \times (40-10)$

$= 11 \times 10^{-3} \times 2 \times 3$

$= 66 \times 10^{-3}\text{m}$

$\Delta l = 0.066\text{m}$

⑪ $t_1 = 20^\circ\text{C}$; $D_1 = 2\text{cm}$

$t_2 = 120^\circ\text{C}$; $D_2 = ?$

we know that

$D_2 = D_1(1 + \alpha \Delta t)$

$= 2[1 + 23 \times 10^{-6}(120-20)]$

$= 2[1 + 23 \times 10^{-4}]$

$= 2[1 + 0.0023]$

$= 2(1.0023)$

(17) Given $t_1 = 0^\circ\text{C} \rightarrow d_1 = 10 \text{ m/cc}$ (18) Given $\alpha = 2 \times 10^{-6}/^\circ\text{C}$; $l = 10 \text{ m}$, $t_1 = 20^\circ\text{C}$

$t_2 = 100^\circ\text{C} \rightarrow d_2 = 9.7 \text{ m/cc}$ (i) $\Delta l = -1 \text{ mm} = -10^{-3} \text{ m}$, $t_2 = ?$

$$\beta = \frac{d_1 - d_2}{d_2 (t_2 - t_1)}$$

$$\therefore \beta = \frac{10 - 9.7}{9.7(100 - 0)}$$

$$\therefore \beta = \frac{0.3}{9.7 \times 100}$$

$$\therefore \alpha = 3 \times 10^{-4}/^\circ\text{C}$$

$$\therefore \alpha = \frac{\Delta l}{l \Delta t}$$

$$\therefore \Delta t = \frac{\Delta l}{l \alpha}$$

$$\Delta l = \Delta t = \frac{-10^{-3}}{10 \times 2 \times 10^{-6}}$$

$$\therefore \Delta t = -\frac{1}{20} \times 10^3$$

$$\therefore \Delta t = -50^\circ\text{C}$$

$$\therefore t_2 - t_1 = -50^\circ\text{C}$$

$$t_2 - 20 = -50^\circ\text{C}$$

$$t_2 = -30^\circ\text{C}$$

$$(ii) \beta = 3 \alpha$$

$$= 3 \times 2 \times 10^{-6}$$

$$= 6 \times 10^{-6}/^\circ\text{C}$$

Task

(1) Given $t_1 = 20^\circ\text{C} \rightarrow 70^\circ\text{C}$

$\Delta l = 10^{-3} \text{ m}$; $l_1 = 1$

$$\alpha = \frac{\Delta l}{l_1 \Delta t}$$

$$\therefore \alpha = \frac{\Delta l}{l_1 \Delta t} = \frac{10^{-3}}{50}$$

$$\therefore \alpha = \frac{1}{5} \times 10^{-4}$$

Also given $l_2 = 4 \text{ l}$

From $\alpha = \frac{\Delta l}{l_2 (t_2 - t_1)}$

$$\therefore \alpha = \frac{\Delta l}{l_2 (t_2 - t_1)}$$

$$\therefore \alpha = \frac{\Delta l}{4 \times 75}$$

$$\therefore \frac{1}{5} \times 10^{-4} = \frac{\Delta l}{4 \times 75}$$

$$\Delta l = 60 \times 10^{-4} = 6 \times 10^{-3} \text{ m}$$

(2) Given $\frac{\Delta V}{V} = 0.30\%$

$$= 3 \times 10^{-3}$$

$$\beta = \frac{\Delta V}{V \Delta t}$$

$$\frac{\Delta V}{V \Delta t} = \frac{3}{100} \beta$$

$$\therefore \frac{3 \times 10^{-3}}{100} = \frac{3}{100} \beta$$

$$\therefore \beta = 2 \times 10^{-5}/^\circ\text{C}$$

(3) Given $\alpha_x = 10 \times 10^{-7}/^\circ\text{C}$

$$\alpha_z = \alpha_y = 220 \times 10^{-7}/^\circ\text{C}$$

$\therefore$ The coefficient of cubical expansion is

$$= 10 \times 10^{-7} + 220 \times 10^{-7} + 220 \times 10^{-7}$$

$$= 450 \times 10^{-7}/^\circ\text{C}$$

$$= 45 \times 10^{-6}/^\circ\text{C}$$

(4) Given $t_1 = 27^\circ\text{C} \rightarrow l_1 = 10 \text{ m}$

$$\Delta l = -1.1 \text{ mm} = -1.1 \times 10^{-3} \text{ m}$$

$$t_2 = ?$$

$$\alpha = \frac{\Delta l}{l \Delta t}$$

$$\therefore 11 \times 10^{-6} = \frac{-1.1 \times 10^{-3}}{10 \Delta t}$$

$$\therefore \Delta t = \frac{-1.1 \times 10^{-3}}{11 \times 10 \times 10^{-6}}$$

$$\therefore \Delta t = -10^\circ\text{C}$$

$t_2 - t_1 = -10^\circ\text{C}$

$$\therefore t_2 - 27 = -10^\circ\text{C}$$

$$\therefore t_2 = -10 + 27$$

$$= 17^\circ\text{C}$$



(5) $d_2 = 20 \text{ gm/cc}$, $t_2 = 100^\circ\text{C}$

$t_1 = 0^\circ\text{C}$ $d_1 = ?$

Given $\alpha = 20 \times 10^{-6} / ^\circ\text{C}$

$\gamma = 3\alpha = 3 \times 20 \times 10^{-6}$
 $= 60 \times 10^{-6}$

From

$d_1 = d_2 [1 + \gamma \Delta t]$

$\Rightarrow d_1 = 20 + 20 (100 - 0) 60 \times 10^{-6}$

$\Rightarrow d_1 = 20 [1 + 100 \times 60 \times 10^{-6}]$

$= 20 [1 + 0.006]$

$= 20 [1.006]$

$= 20.12 \text{ gm/cc}$

(8) Given $\frac{l_1}{l_2} = \frac{2}{3}$; $\frac{\alpha_1}{\alpha_2} = \frac{3}{2}$; $\frac{\Delta l_1}{\Delta l_2} = ?$

From $\alpha = \frac{\Delta l}{l \Delta t}$

$\Rightarrow \Delta l = \alpha l \Delta t$

$\Rightarrow \frac{\alpha_1 l_1}{\alpha_2 l_2} = \frac{\Delta l_1}{\Delta l_2}$

$\Rightarrow \frac{2}{3} \times \frac{3}{2} = \frac{\Delta l_1}{\Delta l_2}$

$\Rightarrow \frac{\Delta l_1}{\Delta l_2} = 1$

(6) Given $\alpha_s = 11 \times 10^{-6} / ^\circ\text{C}$

$t_g = 250 + 20 = 270^\circ\text{C}$

$D = 182 \text{ m}$; $t_1 = 20^\circ\text{C}$

$\Delta D_2 = 3.3 \text{ mm}_2$

$= 3.3 \times 10^{-3} \text{ m}$

$= 33 \times 10^{-4} \text{ m}$

From $\alpha = \frac{\Delta D}{D \times \Delta t}$

$\Rightarrow 11 \times 10^{-6} = \frac{33 \times 10^{-4}}{182 \times (t_2 - 20)}$

$\Rightarrow 10^{-2} = \frac{3}{12 \times 10^4 \times (t_2 - 20)}$

$\Rightarrow t_2 - 20 = \frac{1000}{4} = 250$

$\Rightarrow t_2 = 270^\circ\text{C}$

(7) Given $\alpha = 10 \times 10^{-6} / ^\circ\text{C}$

$t_1 = 20^\circ\text{C}$; $d_1 = 1 \text{ gm/cc}$

$t_2 = 40^\circ\text{C}$; $d_2 = ?$

$\gamma = \frac{d_1 - d_2}{d_2 \Delta t}$

$\Rightarrow d_1 = d_2 (1 + \gamma \Delta t)$

$\Rightarrow 1 = d_2 [1 + 30 \times 10^{-6} (40 - 20)]$

$\Rightarrow 1 = d_2 [1 + 600 \times 10^{-6}]$

$\Rightarrow d_2 = \frac{1}{1.006}$

$\Rightarrow d_2 = 0.998 \text{ gm/cc}$

(16) at $t_1 = 27^\circ\text{C} \rightarrow l_1 = 2 \text{ m}$

$t_2 = 77^\circ\text{C} \rightarrow l_2 = 2.0024 \text{ m}$

$\alpha = \frac{\Delta l}{l \Delta t} = \frac{l_2 - l_1}{l_1 (t_2 - t_1)}$

$\alpha = \frac{2.0024 - 2}{2 (77 - 27)}$

$\alpha = \frac{0.0024}{2 \times 50}$

$\alpha = \frac{24 \times 10^{-4}}{2 \times 50}$

$\alpha = 24 \times 10^{-6} / ^\circ\text{C}$

(9) Given $\frac{\Delta V}{V} = 0.40\%$

$= 4 \times 10^{-3} \Rightarrow \beta = \frac{1}{3} \times 10^{-4}$

$\Delta t = 80^\circ\text{C}$

From $\gamma = \frac{\Delta V}{V \Delta t}$

$\beta = \frac{2}{3} \times 10^{-4}$

$\Rightarrow \beta = \frac{2}{3} \times \frac{\Delta V}{V \Delta t}$

$\Rightarrow \beta = \frac{2}{3} \times \frac{4 \times 10^{-3}}{80}$

$\Rightarrow \beta = 3.3 \times 10^{-5} / ^\circ\text{C}$

(17) Given $d_1 = 10 \text{ gm/cc} \rightarrow t_1 = 0^\circ\text{C}$

$d_2 = 9.7 \text{ gm/cc} \rightarrow t_2 = 100^\circ\text{C}$

$\gamma = \frac{d_1 - d_2}{d_2 (t_2 - t_1)} = \frac{10 - 9.7}{9.7 (100 - 0)}$

$3\alpha = \frac{0.3}{9.7 \times 100}$

$\Rightarrow \alpha = 10^{-4} / ^\circ\text{C}$

(18) we know that

$\alpha = \frac{1}{3} \beta$

Given $\frac{\Delta V}{V} = 0.12\% = 12 \times 10^{-4}$

$\Delta t = 30^\circ\text{C}$

$\beta = \frac{1}{3} \times \frac{\Delta V}{V \Delta t}$

$\beta = \frac{1}{3} \times \frac{12 \times 10^{-4}}{30}$

$\beta = \frac{4}{3} \times 10^{-5} / ^\circ\text{C}$

(19) $\beta = 2\alpha$

$\beta = 2 (6.33 \times 10^{-5})$

$\beta = 12.66 \times 10^{-5} / ^\circ\text{C}$